
 

BIHAR BOARD QUESTION PAPER  

हिन्दी माध्यम / ENGLISH MEDIUM 

INTERMEDIATE EXAMINATION - 2020 
इंटरमीडिएट परीक्षा - 2020 

(ANNUAL / वार्षिक)  

ENTREPRENEURSHIP  
सभम : 3 घॊटे 15 मभनट]              [ऩरू्णांक : 70 

SECTION - A 

प्रश्न सॊख्मण 1 से 42 तक के प्रश्न के सणथ चणय विकल्ऩ ददए गए हैं, जजनभें से एक 
सही है। ककनहीॊ 35 प्रश्नों के उत्तय अऩने द्िणयण चनेु गए सही विकल्ऩ को OMR शीट 
ऩय चचजननत कयें। 

 

1. सफसे अचधक व्मणऩक ऺेत्र है 

(a) ब्रणण्ड  

(b) रेफमरॊग 

(c) ऩकेैजजॊग 

(d) व्मणऩणय भणकक  

 

2. विऩर्न अिधणयर्ण है 

(a) उत्ऩणदोनभखुी 

(b) विक्रमोनभखुी 

(c) ग्रणहकोनभखुी 

(d) इनभें से सबी 
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3. अचधभणन अॊशों ऩय रणबणॊश दय होती है 

(a) जथथय  

(b) चर 

(c) अद्कधचर 

(d) इनभें से कोई नहीॊ 

 

4. थथणमी ऩूॉजी कण स्रोत नहीॊ है 

(a) ऋर्ऩत्रों कण ननगकभन  

(b) अॊशों को ननगकभन 

(c) ऋर्दणतण 

(d) बणयतीम औद्मोचगक वित्त ननगभ से ऋर् 

 

5. परणॊट एिॊ भशीन ऩय ह्रणस है 

(a) कोष कण स्रोत 

(b) कोष कण प्रमोग  

(c) कोष कण प्रिणह नहीॊ 

(d) इनभें से कोई नहीॊ 

 

6. प्रणयजभबक थटॉक है 

(a) कोष के स्रोत 

(b) कोष कण प्रमोग 

(c) न कोष कण न स्रोत कण प्रमोग 

(d) इनभें से कोई नहीॊ 
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7. फे्रनचणइजजॊग के अनतगकत यहतण है 

(a) उत्ऩणद ऩय ननमॊत्रर् फे्रनचणइजय के ऩणस  

(b) उत्ऩणद ऩय ननमॊत्रर् फे्रनचणइजी के ऩणस 

(c) (a) औय (b) दोनों 

(d) इनभें से कोई नहीॊ 

 

8. उद्मभी कण कतकव्म है 

(a) भनुणपण िसरूी  

(b) कय चोयी 

(c) ऩमणकियर् प्रदषूर्  

(d) इनभें से कोई नहीॊ 

 

9. कुर रणगत भें शणमभर है 

(a) भखु्म रणगत  

(b) कणयखणनण रणगत  

(c) उत्ऩणदन रणगत 

(d) इनभें से सबी 

 

10. "प्रफनध एक ऩेशण है।" मह कथन है। 

(a) जणजक आय टैयी  

(b) हेनयी पेमोर 

(c) अभेरयकन प्रफनध एसोमसएशन  

(d) इनभें से कोई नहीॊ 
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11. अप्रत्मऺ उत्ऩणदन भें ननभन भें से कौन-सण चयर् सजभभमरत हैं ?  

(a) प्रणथमभक 

(b) द्वितीमक 

(c) सहणमक  

(d) इनभें से सबी 

 

12. व्मिसणम के मरए विऩर्न है।  

(a) अननिणमक 

(b) आिश्मक 

(c) अनणिश्मक  

(d) विरणमसतण 

 

13. उत्ऩणद अथिण सेिण कण चनुणि कयते सभम ध्मणन यखनण चणदहए  

(a) फणजणय कण ननधणकयर् 

(b) उत्ऩणदन रणगत 

(c) रणब की सभबणिनण 

(d) इनभें से सबी 

 

14. उऩक्रभ कण चनुणि ननबकय कयतण है। 

(a) िणतणियर् 

(b) सणहसी की थिमॊ की मोग्मतण 

(c) सणहसी कण अचधकणय 

(d) इनभें से कोई नहीॊ  
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15. ननभन भें से कौन-सण घटक व्मिसणम के प्रणरूऩ को ननधणकरयत कयतण है ? 

(a) आकणय 

(b) थथणन 

(c) अध्ममन 

(d) इनभें से कोई नहीॊ 

 

16. ितकभणन उत्ऩणदन व्मिथथण िणथति भें है 

(a) प्रत्मऺ उत्ऩणदन  

(b) अप्रत्मऺ उत्ऩणदन 

(c) प्रणथमभक  

(d) द्वितीमक 

 

17. प्रफनध की प्रकृनत है 

(a) जनभजणत 

(b) अजजकत सणभर्थमक 

(c) जनभजणत औय अजजकत सणभर्थमक दोनों 

(d) इनभें से कोई नहीॊ 

 

18. जोखखभ ऩूॉजी मशरणधणय थथणवऩत ककमण गमण 

(a) 1970 भें 

(b) 1975 भें 

(c) 1986 भें 

(d) 1988 भें 
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19. ऩरयमोजनण ननभन भें से ककससे सभफजनधत नहीॊ होती है ? 

(a) नि प्रितकन  

(b) सजृनतण  

(c) कल्ऩनण शजतत 

(d) जोखखत 

 

20. ऩरयभणर्नीम ऩरयमोजनणओॊ से ननभनमरखखत भें से कौन सभफजनधत नहीॊ है ?  

(a) बफजरी उत्ऩणदन  

(b) खननज उत्ऩणदन  

(c) ऩरयिणय कल्मणर्  

(d) जरणऩनूतक 

 

21. विथतणयीकयर् ऩरयमोजनण भदद कयती है 

(a) विद्मभणन सॊसणधनों को ऩयूण कयने भें 

(b) केनरीकृत नीनत ननधणकयर् भें 

(c) अनतरयतत अिसयों कण रणब उठणने भें  

(d) इनभें से कोई नहीॊ 

 

22. एक सपर उद्मभी भें अिश्म ननभन भें से कौन-सण गुर् होने चणदहए ?  

(a) नेततृ्ि कण 

(b) ननमॊत्रर् कण  

(c) नि प्रितकन 

(d) इनभें से सबी 
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23. "ननमोजन बविष्म को ऩकड़ने के मरए फनणमण गमण वऩॊजयण है।" मह कथन है 

(a) नमभूनै कण  

(b) हरें कण 

(c) ऐरेन कण 

(d) टेयी कण 

 

24. ननमोजन सबी प्रफनधकीम कक्रमणओॊ कण है 

(a) प्रणयभब 

(b) अनत  

(c) प्रणयभब तथण अनत दोनों 

(d) इनभें से कोई नहीॊ 

 

25. ननभन भें से कौन-सण घटक फणजणय भलू्मणॊकन ऩय प्रबणि डणरतण है ? 

(a) सकू्ष्भ िणतणियर्  

(b) उत्ऩणद की रणगत  

(c) भणॉग 

(d) इनभें से कोई नहीॊ 

 

26. फणजणय भलू्मणॊकन को कौन-सण तत्ि प्रबणवित नहीॊ कयतण है ? 

(a) भणॉग 

(b) सकू्ष्भ िणतणियर्  

(c) विऩर्न भध्मथथ 

(d) प्रनतमोगी 
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27. ननभन भें से कौन नमे उद्मभ की शरुूआत की अिथथण नहीॊ है ?  

(a) प्रणयजभबक ऩिूक अिथथण  

(b) प्रणयजभबक अिथथण 

(c) उत्ऩणद फणजणय अिथथण 

(d) फणद की िदृ्चध अिथथण 

 

28. बणयत ननिेश कोष ककसके द्िणयण थथणवऩत ककमण गमण ? 

(a) आई एप सी आई  

(b) चग्रण्डरेज फैंक 

(c) थटेट फैंक ऑप इॊडडमण 

(d) कैन फैंक 

 

29. सयुऺण सीभण है  

(a) बफक्री - अॊशदणन 

(b) िणथतविक बफक्री - फी ई ऩी बफक्री 

(c) फी ई ऩी बफक्री - िणथतविक बफक्री 

(d) इनभें से कोई नहीॊ 

 

30. सभ-विच्छेद बफनद ु= 

(a) जथथय रणगतरणब
 भणत्रण अनुऩणत 

 

(b) जथथय रणगतरणब
 भणत्रण अनुऩणत  × 100  

(c) रणब भणत्रण अनुऩणतजथथय
 रणगत 

 

(d) इनभें से कोई नहीॊ  

bsebresult.in



 

31. आचथकक सहणमतण है 

(a) रयमणमत 

(b) फट्टण 

(c) ऩनु: बगुतणन 

(d) इनभें से कोई नहीॊ  

 

32. आचथकक नीनतमणॉ ननधणकरयत कयती हैं 

(a) व्मिसणम की भणत्रण 

(b) व्मिसणम की ददशण  

(c) व्मिसणम की ददशण एिॊ भणत्रण 

(d) इनभें से कोई नहीॊ 

 

33. ननभन भें से कौन ऩमणकियर् कण प्रकणय है ? 

(a) आनतरयक ऩमणकियर्  

(b) फणनम ऩमणकियर् 

(c) (a) औय (b) दोनों 

(d) इनभें से कोई नहीॊ 

 

34. गबणकिचध सभफजनधत होती है 

(a) विचणय सजृन से 

(b) उद्बिन से 

(c) कक्रमणनिमन अिचध स े

(d) िणखर्ज्मीकयर् अिचध स े
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35. शदु्ध ितकभणन भलू्म विचध सभफजनधत है 

(a) भरुण के ितकभणन भलू्म से  

(b) भरुण के सभम भलू्म से 

(c) भरुण के फढे हुए भलू्म से 

(d) इनभें से कोई नहीॊ 

 

36. कणमकशीर ऩूॉजी िगीकृत हो सकती है। 

(a) थथणमी कणमकशीर ऩूॉजी 

(b) ऩरयितकनशीर कणमकशीर ऩूॉजी  

(c) ननममभत एिॊ भौसभी कणमकशीर ऩूॉजी 

(d) इनभें से सबी 

 

37. IFCI थथणवऩत की गई..........िषक भें। 

(a) 1939 

(b) 1948 

(c) 1950 

(d) 1956 

 

38. रणबों कण ऩनु्ननिेश एक स्रोत है 

(a) अल्ऩ अिचध वित्त कण 

(b) भध्म-कणमरक वित्त कण 

(c) दीघककणमरक वित्त कण 

(d) इनभें से कोई नहीॊ 

bsebresult.in



 

39. टेमरपोन व्मम है 

(a) चर 

(b) अद्कधचर 

(c) थथणमी 

(d) इनभें से कोई नहीॊ 

 

40. ननभन भें कौन-सण व्मणिसणनमक अिसय की ऩहचणन को प्रबणवित कयने िणरण घटक 
है? 

(a) आॊतरयक भणॉग की भणत्रण  

(b) ननमभकत अिसय  

(c) ऩमणकियर् भें विद्मभणन ्अिसय 

(d) इनभें से कोई नहीॊ 

 

41. अिसय से हभणयण अमबप्रणम है  

(a) विचणय जो व्मणिसणनमक उऩक्रभ भें ऩरयर्त हो जणम 

(b) रणब कभणनण 

(c) अिसय ऩरयजथथनत उननभखु होतण है 

(d) इनभें से सबी 

 

42. पे्रयर्णमें सभफजनधत नहीॊ होती है 

(a) छूट से  

(b) कय से भजुतत 

(c) फीज ऩूॉजी कण प्रणिधणन से 

(d) एकभशु्त बगुतणन 
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SECTION - B 

 

प्रश्न सॊख्मण 1 से 18 तक रघ ुउत्तयीम हैं। इनभें से ककनहीॊ 10 प्रश्नों के उत्तय दें। प्रत्मेक 
के मरए 2 अॊक ननधणकरयत है। 

 

1. फणजणय व्मिहणमकतण तमण है ? 

2 प्रफनध के दो प्रभखु कणमक फतणइए।  

3. उऩक्रभ थथणऩनण को कक्रमणनिमन कयने के ककनहीॊ दो चयर्ों को मरखें। 

4. ननमोजन की कोई तीन विशषेतणएॉ फतणमें। 

5. अिसय के प्रकणय फतणइए। 

6. रणबदणमकतण अनऩुणत तमण है ? 

7. कणमकशीर ऩूॉजी तमण है ? 

8. उद्ममभतण के मरए फणजणय भलू्मणॊकन तमों आिश्मक है ? 

9. सयुऺण सीभण तमण है ? 

10. सणभणजजक घटक तमण है ? 

11. ऩरयमोजनण तमण है ?  

12. रणगत तमण है ? 

13. ककनहीॊ दो विऩर्न भध्मथथों के नणभ फतणइए।  

14. उद्मभी ऩूॉजी की ऩरयबणषण दीजजए। 

15. तमण उद्मभी ऩय ऩमणकियर् कण प्रबणि ऩड़तण है ? 

16. विऩर्न मभश्रर् की ऩरयबणषण दीजजए। 

17. कोष कण तमण अथक है ? 

18. ननमोजन की कोई दो तकनीक फतणमें।  
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प्रश्न सॊख्मण 19 से 24 दीघक उत्तयीम हैं। इनभें से ककनहीॊ 3 प्रश्नों कण उत्तय दें। प्रत्मेक 
प्रश्न के मरए 5 अॊक ननधणकरयत हैं।  

 

19. फणजणय भलू्मणॊकन से आऩ तमण सभझते हैं ? फणजणय भलू्मणॊकन ऩय प्रबणि डणरने िणरे 
घटक कौन-कौन से हैं ?  

 

20. उऩक्रभ के चनुणि भें उद्मभी को ककन-ककन फणतों कण ध्मणन यखनण चणदहए ? 

21. ननमोजन की ऩरयबणषण दें इसकी विशषेतणएॉ फतणइए। 

22. कणमकशीर ऩूॉजी की आिश्मकतण आऩ कैसे ननधणकरयत कयेंगे ? 

23. सभ-विच्छेद विश्रेषर् तमण है? मह कैसे ऻणत ककमण जणतण है ? 

24. प्रफनध के कणमों को सभझणइए । 
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BIHAR BOARD QUESTION PAPER  

INTERMEDIATE EXAMINATION - 2020 
इंटरमीडिएट परीक्षा - 2020 

(ANNUAL / वार्षिक)  

ENTREPRENEURSHIP 

Time: 3 Hours 15 Minutes]                    [Full Marks: 70 

SECTION A 

Question Nos. 1 to 42 have four options, out of which only one is correct. Answer any 35 

questions. You have to mark your selected option on the OMR Sheet. 

 

1. Maximum wide scope is of 

(a) Brand  

(b) Labelling 

(c) Packaging 

(d) Trade Mark 

 

2. Marketing concept is 

(a) Production-oriented 

(b) Sales-oriented 

(c) Customer-oriented 

(d) all of these 

 

3. The rate of dividend on preference shares is 

(a) Fixed 

(b) Variable 

(c) Semi-variable  

(d) none of these 
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4. The sources of fixed capital is not 

(a) Issue of debenture 

(b) Issue of shares 

(c) Creditors  

(d) Loan from Industrial Finance Corporation of India 

 

5. Depreciation on plant and machinery is  

(a) Source of fund 

(b) Application of fund 

(c) No flow of fund 

(d) none of these 

 

6. Opening Stock is 

(a) Source of fund 

(b) Application of fund  

(c) Neither fund of nor application source 

(d) none of these 

 

7. Under franchising  

(a) control on the product remains in the hands of franchisor 

(b) control on the product remains in the hands of franchisee 

(c) both (a) and (b) 

(d) none of these 

 

8. Duty of entrepreneur is 

(a) Profiteering 

(b) Tax evasion  

(c) Environment pollution 

(d) none of these 
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9. Total costs includes  

(a) Prime cost 

(b) Work cost 

(c) Production cost 

(d) all of these 

 

10. "Management is a profession" This statement is of  

(a) George R. Terry  

(b) Henry Fayol 

(c) Ameriacan Management Association 

(d) none of these 

 

11. Which of the following steps is included in indirect production? 

(a) Primary 

(b) Secondary 

(c) Tertiary 

(d) all of these 

 

12. For business, marketing is  

(a) Compulsory 

(b) Necessary 

(c) Unnecessary  

(d) Luxury 

 

13. Factor (s) that should be considered while selecting a product or service, is 

(a) Market determination  

(b) Cost of production 

(c) Profit possibility 

(d) all of these 
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14. Selection of an enterprise depends on 

(a) Environment  

(b) Self ability of an entrepreneur 

(c) Right of entrepreneur 

(d) none of these 

 

15. Which of the following factors determines the form of business organisation? 

(a) Size 

(b) Location 

(c) Study 

(d) None of these 

 

16. Present production system, in fact, is 

(a) Direct production  

(b) Indirect production 

(c) Primary 

(d) Secondary 

 

 

17. The nature of management is 

(a) Inborn 

(b) Acquired ability 

(c) both inborn and acquired ability 

(d) none of these  

 

18. Risk Capital Foundation was established in 

(a) 1970  

(b) 1975  

(c) 1986 

(d) 1988 
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19. Project is not concerned with 

(a) Innovation 

(b) Creativity  

(c) Vision 

(d) Risk 

 

20. Which of the following is not considered with quantifiable projects? 

(a) Power generation 

(b) Mineral production 

(c) Family welfare 

(d) Water supply 

 

21. Expansion project helps in  

(a) Supplementing the existing resources 

(b) In centralized policy formulation 

(c) Encashing additional opportunities 

(d) none of these 

 

22. A successful entrepreneur must possess which quality? 

(a) Leadership  

(b) Control 

(c) Innovation 

(d) All of these 

 

23. "A plan is a trap to capture the future." This statement is of 

(a) Newman  

(b) Hurley 

(c) Allen 

(d) Terry 
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24. Of all managerial activities planning is the 

(a) beginning 

(b) end 

(c) beginning and end both  

(d) none of these  

 

25. Which of the following factors affects market assessment? 

(a) Micro-environment 

(b) Production cost 

(c) Demand 

(d) None of these 

 

26. Which element does not affect market assessment? 

(a) Demand  

(b) Micro-environment 

(c) Market intermediaries 

(d) Competitor 

 

27. Which of the following is not a stage of starting of a new venture? 

(a) Pre-start-up stage  

(b) Start-up stage 

(c) Product market stage 

(d) Later growth stage 

 

28. India Investment Fund was established by 

(a) IFCI 

(b) Grindlays Bank 

(c) State Bank of India 

(d) Can Bank 
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29. Margin of safety is 

(a) Sales - Contribution  

(b) Actual Sales - BEP Sales 

(c) BEP Sales - Actual Sales 

(d) none of these 

 

30. Break-even Point (BEP) =  

(a) 
𝑓𝑖𝑥𝑒𝑑  𝑐𝑜𝑠𝑡  

𝑃/𝑉𝑅𝑎𝑡𝑖𝑜
  

(b) 
𝑓𝑖𝑥𝑒𝑑  𝑐𝑜𝑠𝑡  

𝑃/𝑉𝑅𝑎𝑡𝑖𝑜
× 100 

(c) 
𝑃/𝑉𝑅𝑎𝑡𝑖𝑜

𝑓𝑖𝑥𝑒𝑑  𝑐𝑜𝑠𝑡
  

(d) none of these 

 

31. Subsidy is 

(a) Concession 

(b) Discount 

(c) Repayment  

(d) none of these 

 

32. Economic policies determine the 

(a) Volume of business 

(b) Direction of business 

(c) Direction and volume of business  

(d) none of these 

 

33. Which of the following is a type of environment? 

(a) Internal environment 

(b) External environment 

(c) Both (a) and (b)  

(d) None of these 
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34. Gestation period is concerned with 

(a) Idea creation period 

(b) Incubation period 

(c) Implementation period 

(d) Commercialisation period 

 

35. NPV method relates to 

(a) Present value of money 

(b) Time value of money 

(c) Inflated value of money 

(d) none of these 

 

36 . Working capital may be classified into  

(a) Permanent working capital  

(b) Variable working capital 

(c) Regular and seasonal working capital 

(d) all of these 

 

37. IFCI was established in the year 

(a) 1939 

(b) 1948 

(c) 1950 

(d) 1956 

 

38. Re-investment of profits is a source of 

(a) Short-term finace 

(b) Medium-term finance 

(c) Long-term finance 

(d) none of these 
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39. Telephone Expense is 

(a) Variable  

(b) Semi-variable  

(c) Fixed  

(d) none of these 

 

40. Which of the following factors affects identification of business opportunities? 

(a) Volume of internal demand 

(b) Created opportunity  

(c) Existing opportunities in the environment 

(d) None of these 

 

41.  By opportunity we mean 

(a) idca whic can be converted into business enterprise 

(b) to earn profit 

(c) opportunity is circumatanes-oriented  

(d) all of these 

 

42. Incentives are not concerned with 

(a) Rebate 

(b) Exemption from tax  

(c) Provision of seed capital  

(d) Lumpsum payment 

 

SECTION-B 

Question Nos. 1 to 18 are Short Answer Type. Answer any 10 questions. Each question 

carries 2 marks. 

1. What is market feasibility? 

2. Write two main functions of management. 

3. Write any two steps in the execution of the setting up of an enterprise 
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4. Mention any three features of planning. 

5. State the kinds of opportunities.  

6. What is profitability ratio? 

7. What is working capital ? 

8. Why is market assessment necessary for entrepreneurship? 

9. What is margin of safety? 

10. What is social factor? 

11. What is project? 

12. What is cost?  

13. Name any two marketing intermediaries. 

14. Define venture capital. 

15. Is an entrepreneur affected by the environment?  

16. Define marketing mix. 

17. What do you mean by fund?  

18. Mention any two techniques of planning. 

 

Question Nos. 19 to 24 are Long Answer Type. Answer any 3 questions. Each question 

carries 5 marks.  

19. What do you mean by market assessment? What are the factors affecting market 

assessment?  

20. What factors should be considered by an entrepreneur while selecting an 

 enterprise?

 

21. Define planning. What are its features ?

 

22. How would determine the requirement of working capital?

 

23. What is Break-even Analysis? How is it calculated?

 

24. Discuss the functions of management.
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